A & ol & AF & Ml A

PO2IEE 20| & 2uHEl
L HE-PS-Th
B : 200 MeIaY
B o: o200 FARKASY
8 : 22 ABER4Y (619 &2
SN-F-B-B-2 Ol & &1 & 0f o o HR 2
= | 21,839,543 17,074,841 4,764,702
HAH D 21,839,543 17,074,841 4,764,702
200 Mel=+=¢ 19,337,343 15,745,341 3,592,002
210 ZAT N2+ 18,989, 187 14,505,341 4,483,846
212 A3 =Y 3,100 24,598 A 21,498
212-09 JIEtAI B & 3,100 24,598 ~21,498
OSHAWUTGAIL ALFHL 2NABE 4 3,100
213 #4249 18,031,087 13,490,743 4,540,344
213-02 MEBHIISH++2 15,739,000 10,950,000 4,789,000
OZYH 25 B+ 12,939,000
OLSES(MES AEIH) BH+Y 1,540,000
OBESF RFID Helaa2 ¢ 1,260,000
213-03 HEESE 4N 042 1,569,729 1,800,000 £230,271
OVWEEELEN NERE BH+Y 1,457,729
OMESE EPREZZ 29 112,000
213-05 JIEt4 42 722,358 740,743 £18,385
OUEEIIZ Hel+42 716,358
OMH Moy 42 6,000
214 A2 955,000 990,000 35,000
214-01 ALRIE M At 955,000 990,000 35,000
ONH&BAL BE B4 630,000
ONE&BAL M BOHSY 230,000
OSHAWUTISAIL HATY 2 95,000
220 24 AIE KISl 42 133, 156 1,025,000 £891,844
224 JIEF %2l 133, 156 25,000 108, 156
224-07 19142l 133, 156 25,000 108, 156
ORMEBAL U ASRAL HIINBE 15,000
OYXIHIIS Haltl 118, 156
230 WY - L242 215,000 215,000 0
231 HF32 70,000 70,000 0
231-01 &3 70,000 70,000 0
OHIISHaIY S Y I3 70,000
234 BHENZ 145,000 145,000 0
234-02 JIEtHEH = 145,000 145,000 0
OmHDIZREY S 9AY DEHE 145,000
500 2% 3 2,502,200 1,329,500 1,172,700
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N = 0l & At & Ml A

SN HABEDY
Hz: 22T A XA
ol XA MEBHY XA (sl &2)
- - _ L3
M. (3 ) NEAY - BES ol &k o ﬁlf& 2
FSEN 55,861,793 49,997,849
2 558,000
g 1,183,000
Jl 400,000
= 361,200
Al 53,359,593
=2 N 54,966,317 49,097,483
=2 558,000
g 1,183,000
J| 400,000
= 361,200
Al 52,464,117
MEEH XM 33,485,494 30,742,491
Aol =21 2el 33,121,076 30,639,203
QB2 A Y| 1,106,632 1,178,382
AP 22| | 1,086,632 1,150,662
OZHN 258 EHHA EZAE HZ
5,000 * 5000H 2,500
OZHM 25 H& 795,500
-5y 332 x 600,0000H 19,800
- 104 412 = 4,000,0000H4 164,000
- 204 582 * 6,000,0000H4 348,000
- 504 1242 = 900,0000H 111,600
- 754 169 * 900, 0000H 152,100
O=&H oty X & 88,720
- 104 280 * 40,0000H 11,200
- 304 380& * 204,0000H4 77,520
OZEM 25 HI2E QI
62 = 13,100, 0000H 78,600
o222 25 H& 15,180
—-50¢ 1182 * 100,0000H 11,800
- 754 169& = 20,0000H 3,380
O222 258 M (A IdH=) 50,670
—-504 118& = 100,0000H 11,800
- 754 169 * 230, 0000H4 38,870
OSSN sE22F10 R0AH =2
66,000 = 12& 792
OMEMYD| BHEHL E22 HE 22,250
- & 90¥ = 100,0000H 9,000
= 55,0008 = 15004 8,250
- AElAH 100 = 50,0000H 5,000
OMESMY Il =& B HE P M ZOIRIE =
= 14,840




= O-I
N & 0 & AF & F Al A
SN BAFD
M A =4
ool WA MEHY T4 CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
“EorRies fd 29
70,000 * 23| * 6YH 840
~EEEIIG AH g
70,000& = 10 = 209H 14,000
OUE HIIENME HME8 ZHSXE
800,000& = 12& 9,600
OUE HIOIMME dotE RXNE=+ 6,000
OUEHII= IEZ N S2I X & SHZ
165,000& * 12& 1,980
02 =224l 20,000 27,720 AT,720
O&X M) =2 FH H=0, &I
RS 20,000
202 oddl 4,200 4,500 A 300
01 = LH o4 1l 4,200 4,500 A 300
O&FA2eE PR 0Hl 600,0008 = 7H 4,200
203 YR F&H| 5,000 5,000 0
03 Al =X A2 =XH| 5,000 5,000 0
OFAANMFZZ HRFIH| 5,000
207 AR 2| 35,000 41,000 A 6,000
01 A EAHI 35,000 35,000 0
OFLLSOY HIIME SO
20,000,000& * 14l 20,000
OMEMYI| +ZS8 HHAX B
15,000,000& * 14 15,000
301 LEAZ 12,600 12,600 0
12 JIEBtE4 3 12,600 12,600 0
ONE0ISEA SAH 457 2L
30,000& * BOMHCHXl = 78 12,600
307 glz2+ol & 31,957,644 29,397,721 2,559,923
05 RIZHRI & 3 31,957,644 29,397,721 2,559,923
QuEgMy I (B2H, HES SAE ) =8 -
2= 9,286,313,220& * 14 29,286,314
OUEHII=2 =8 - 28 U=
716,358,4443 14 716,359
OZEN =5 tis ez
90,000,000& =« 14 90,000
OUEHIE MedUHHE=S(HSMHE S)
217,520& = 6,000 1,305,120
OXX MaMy) =L = 559,851
MEMy D] 28Xel 2& 232,662 91,288 141,374
101 124 dl 127,662 10,308 117,354
04 D12t Z2XEES 127,662 10,308 117,354
OYXIMYI =H 2
9,760& * 15 » 10 10,464
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A A 0t
Hz: 22T A XA
ool WA MEHY T4 CER-ED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OSHED NgZA2 &4 117,198
—ug
8,720 x 158 x 52 x 4A|2t » 32=F 83,712
- E2n4Y
8,720& * 1.5 % 158 » 22 % 1A|2t = 32 12,557
- =54 34,880& * 15 » 1 * 32F 16,743
- AXE 34,880& * 15 » 8¢ 4,186
201 et d| 25,000 28,480 N 3,480
01 AP 2t 2| H| 14,000 13,480 520
OMY Il &=H A28 2¢ 3,000
OMYIJl 28 ED| S2X L E X & 3,000
OSEEI MMy /AeHe =2 6,000
OSHES) H2AN 528 £ 2
200,000 = 1004 2,000
02 2=2=24%H| 11,000 15,000 A 4,000
OMYD SEYEED &2 SUE AIES2
50,000 * 504 = 12&€ 3,000
ONEXY HMIIAIEE 5,000 = 200 ~ 12€ 1,200
OADIEZDE(DAEA 0lSAl) AIEZEH S
gl 50,0008 * 136CH 6,800
405 KHoHFE S HI 80,000 52,500 27,500
01 XA 2B F S| 80,000 52,500 27,500
O0lsal ANEZ DT AX
4,000,000 = 20CH 80,000
HIIE 22l 131,756 12,000 119,756
201 LBt Y| 10,000 1,000 9,000
01 AP 22| d| 10,000 1,000 9,000
OHJIZ2 2248 A&
1,000,000& = 1090 2 10,000
202 04| 3,600 3,500 100
01 2Ll 3,600 3,500 100
QHIISs2el8 gL2=F=& |
600,000 ~ 6H 3,600
401 AlEHIZL £ 0HY| 118,156 7,500 110,656
01 Al&H| 118,156 7,500 110,656
OYXIHIIE Helyl 118,156
-HII2Xcel 219,000 * 240& * 1.5 78,840
—HII2Xel 89,000 * 294.5€ * 1.5 39,316
AMEEMY Do A A X2l 19,098,223 17,939,425 1,158,798
= 550,000
= 165,000
Al 18,383,223




SN HABFD
. 2RCA XA
Sl MEMHII AFE e (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Hed 24 378,620 394,140 A 15,520
201 £B-2d| 208,820 171,140 37,680
01 At 22l 119,820 102, 140 17,680
O E EL2Y AHAA =5
1,100,000& * 24 * 4K & 8,800
ONEE LMIIA HA 242
300,000& = 20 4 600
ONYE BE4 S +TAN +22
350,000& = 343l 11,900
ONgd BYM(ER) =22
110,000& * 483/ 5,280
ONMEZ AMIletd e Wz
200,000& * 20 A  12& 4,800
O S IAIIIAIAE(CCTV) L RHEIAl
AE 23 160,000& = 294 « 12 3,840
OB HALX UXE LHEI 242
3,500,000& = 200 & ™ 7,000
OME ¥ BE+HE 222y 428 2
2 3,000,000& = 14 3,000
Ox=&ZdA M=Y 2 3,000& = 2004 600
ONgd HALX AXZ (192X, 48,976 )
70,000,000& * 14l 70,000
OEg & JIHdHllE Eel& &l g
2,000,000& = 23| 4,000
02 22224l 89,000 69,000 20,000
ONEAE Sl (MM E 2 1HL)
20,000,000& * 14l 20,000
OFBELXANE =& JIH, &I el (X
QM E 2 1HL) 30,000,000& * 14! 30,000
O & dI| & &=k 2=
3,250,000 * 12& 39,000
206 M= Hl 4,000 2,000 2,000
01 = Hl 4,000 2,000 2,000
OFE+HelANE 435 7¢
2,000,000& = 14 2,000
OEgd ZAAzF P& 2,000,000& = 14 2,000
307 21201 A 165,000 141,000 24,000
05 RIZt2IEt = 165,000 141,000 24,000
OXIMHEHE HIIZ HE ZEH 2=
120,000,000 * 14| 120,000
O&BZE4 XMelAlE &22lugzs
45,000,000& * 14l 45,000
405 XHoHFE S HI 800 0 800
01 AL EFH S 800 0 800
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X ZH -
L= B

el

0F MU 0

£3F D
RIEA X4
gM20l9 SFE Hel

Y. B (3H) - HEAY - BES o A o SSa H RS2
SEENEEEENEIEEREY
800,000& * 1CH 800
A=BAE 2 7,921,507 8,924,637 A 1,003,130
101 @121l 78,568 89,897 A 11,329
04 JI2ZtHZ2E2XNEE S 78,568 89,897 AN 11,329
ORNJA=SAIE FULAIA C1AHY| 78,568
-Ja2 69,7603 * 2¥ x 252 35,160
=gl 5,000& * 2% * 315 3,150
- F=§dsE 69,760& * 2 x g2Y 8,651
-AXtE 69,7603 * 29 x 15 2,093
-52422E 104,640 * 29 x 62Y 12,976
- XU22E 13,080& * 2% * 210Al2¢ 5,494
—-401 B2 67,524,000& * 8.75% 5,909
-g&2 2,567,300 * 2Y 5,135
201 LBEt2 Y| 6,480 7,030 A 550
01 AP 22l Yl 5,760 6,310 A 550
ONJA=SAE FHISXE FOUXAIS 2
2yo9As A BHLY
70,0003 * 49 * 23] 560
OXN=sANE 2H E2=2 ME 5,200
- & 100& * 30,0000H 3,000
= 55,000& = 404 2,200
02 352494l 720 720 0
ONEHAZE SUe=2 20,000& = 12& 240
OFAANLEE D3N 88 SUHE S8z
40,000& * 12& 480
202 4 b 3,000 18,500 A 15,500
01 =2LHOHI 3,000 3,500 A 500
OFMANEE 2= b 600,000& * 5% 3,000
207 A O | 338,337 157,000 181,337
01 A& 49| 338,337 157,000 181,337
OXN =AY FHASAE FUHY S
A 59 338,337,000& * 14 338,337
307 QI2t0| M 6,389,500 6,546,000 A 156,500
05 012t &2 6,389,500 6,546,000 A 156,500
OXNE=sAE 2| 6,289,000
OJId A HIIZS SEth| 15,000& * 6,700& 100,500
308 AXISHAMSOIH 1,105,622 1,156,210 A 50,588
07 AtXI S22 2 800,000 850,000 A50,000
OIS HIl=Z2 22Hel =2 800,000
12 JEtR Y2 305,622 306,210 A 588




A HAHFED
M A =4
Sl MEMdle HFEF Kl (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OMetHIIE Mz FE3 305,622
—Aa 47,500,000kg * 102 * 1.023 * 25% 121,482
-0 15& = 12,000,000kg * 1.023 184,140
=S AE SEUSAY 4,230,000 0 4,230,000
701 JIEtSl HSHES 4,230,000 0 4,230,000
01 JIEtSI HE =3 4,230,000 0 4,230,000
ONHAEEAE SEUSAIY AlH R2E3 4,230,000
AEZUHURXEE ZEAY 715,000 1,248,000 A 533,000
= 550,000
< 165,000
401 A& BIZ 201 8] 715,000 0 715,000
= 550,000
< 165,000
01 Al | 583,700 0 583,700
O&SAUHXIES ZAHHI 583,700
2 449,000
< 134,700
02 Zeldl 130,000 0 130,000
OZEZUHURXE2 ZelE9] 130,000
= 100,000
< 30,000
03 Al =2 THHI 1,300 0 1,300
OZS3UHUHKXES Al<RUH 1,300
= 1,000
< 300
sSASMY I 2el 3,996,053 3,820,008 176,045
201 Yet2 | 92,760 130,310 ~37,550
01 At 22l 92,760 65,310 27,450
OsasXdd SEM =& & 28 222 W
& 14,500
- 100& = 90,0000H 9,000
-84 55,000& = 1004 5,500
OSASMYI ZRZES(HEE AEIH) ME
25%@ * 1,800,00004 45,000
OsSASMY D LHARAE HIOIAY =&
70,000& * 13| = 8YH 560
O=2a2 N3N elAd R 30,000
-JIA EH SNE=> 30,000,000& * 1A 30,000
O34a2 NAASHEAIE HIHAM =22
2,700,000 = 13l 2,700
206 24 12,000 12,000 0
01 MHZ 4l 12,000 12,000 0
O342 NESXeAAE LdFHMHAM 2
4,000,000& * 3& 12,000
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SN BAFD
M ZREA =4
Sl MEMHII AFE e CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
207 & O] 14,000 10,000 4,000
01 284 14,000 10,000 4,000
OSASsMY DIl HMeldl |dts 849
7,000,000& = 14 7,000
OsSaSiddl 24 AN He St 84
3,000,000& = 14 3,000
O84as NEHelAlE 2UAAEY 28 duE
o 24 4,000,000& = 14 4,000
301 LEd = 268,800 226,800 42,000
1224 = 268,800 226,800 42,000
OZS= RFID £XI20 OGE 2el+==2
800 = 140,000AICH = 20% = 12& 268,800
307 21201 A 3,538,493 3,440,898 97,595
05 BIZHRI & 3 3,538,493 3,390,898 147,595
OsASMY Dl QI Heldl 253,600
Os4as NESHMelAE AEHHS 3,284,893
401 AlEHI 22 OhYI 20,000 0 20,000
01 A& HI 20,000 0 20,000
O242 NFHelANE A2 =6 SA
20,000,000 = 14! 20,000
402 212t X 20| & 50,000 0 50,000
01 212t 2 AL E = (REM ) 50,000 0 50,000
O8as I EXNE2x3 NEFAEY
1,000,000 = 50CH 50,000
Hass 2el 1,857,043 2,050,640 A 193,597
101 14l 9,890 0 9,890
04 DIt Z22HEE = 9,890 0 9,890
OtEIIZAE S3EHA Al 9,890
-Jlas 52,320& = 1302 « 1 6,802
- =AM 5,000& = 130g » 14H 650
- Resgdsd 52,3203 = 27 ~ 1 1,413
PN =R = 52,3203 » 5 « 1 262
-E8= 8,477,000& » 9% 763
201 ¢er24| 207,025 197,800 9,225
01 At 22l 120,425 72,800 47,625
ONesSsHEY RNES 44,500
- ABZ2E &I =&  7,000,000& * 14l 7,000
—HEHHOIN =& 12,500,000& * 14! 12,500
-&dstx =4 10,000,000& * 14 10,000
=JIA ZHl |2 15,000
OZJI=ANE SFHHR 8235 #4 425




SN BABID
BH: BRCA 4
SRl MEMHIIY AW e (29l & 2)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
S ES=RCES] 350,000 * 1 350
~0x 257 75,0008 * 14! 75
OYsHEY TotE RN+ 7,000
ONAMES 28 S22 M 9,000
-HESE, 1588 MEAN, ¥SIBE3
L YsHIIZ S HEX MH
1502 * 10,00004 * 43! 6,000
-AYE BsE 32 oY
1002 * 10,00004 * 33l 3,000
ONMEBBBHEY ELUSIT 20 83 A
= 5,0002 * 3,000% 15,000
OMEBBBHEE AT HEUE(HeIHlE)
2 1,50020 * 1,500 2,250
00/ 22/lE DBSE (WS II)PL
4008 * 20,0002 8,000
OHAVK Z2lHE RHSH(AWX) 7Y
80021 * 10,375% 8,300
OR2+)E % 1588 oM 28 7Y 7,000
“HAHK £HE 10,0002 * 307H 3,000
-34 S2ly 12y 20020 * 20,0004 4,000
OMEEE 2 Z0/H 84D HE2E 2 1,000
-THEEE 4 HILSS(1200)
20021 * 25,00004 5,000
~Z0I® 43 bl =S (105+120cn)
30020 * 20,00004 6,000
OHE4+ DIHNS WEE RN+
300,0002 * 4C4 1,200
OHE4+ DIHAS 228 7Y
10,0002 * 103 1,000
OH& 4% HHTL M 2,008 * 2,000 4,000
OMBEHANLAN SIS HT M
15,0008 * 50 750
ONATHES DII4 =
1,000,0002 * 141 1,000
02 B2 83,600 122,000 38,400
oNMEEsdEy MIle2
6.000,0008 = 122 72,000
OMEBEBHEN £223 500,008 + 128 6,000
OUYIIENE S+ TotE ®II23
300,0002! * 1204 3,600
ONMEE 228 SNSS 2,000
03 A2 3,000 3,000 0
OXSEH HEE S22 29
1,500,0008 * 23] 3,000
202 04t 3,000 3,500 A500
01 =UHotbl 3,000 3,500 A500




A HAHFED
M A =4
Sl MEMHII AFE e CERED
5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OMeEE R=2& Al 600,000& = 5H 3,000
207 A RO H| 11,000 27,000 A 16,000
01 289 11,000 27,000 216,000
OMEBESHEE 2¢ JIHAHL 4
7,000,000& = 14l 7,000
OMEBESHER 2¢ 18I 9
4,000,000& = 14 4,000
301 LPEXZ 2,800 2,140 660
09 HALAHIX &S 1,800 800 1,000
OUESHHEA 2HUE 4|
8,000& = 24l » 509H 800
Ol A dHuE TAs=E
500,000& = 23| 1,000
12 JIEtE4 3 1,000 1,340 A 340
OelgJlI8s=a 0Xa M8 aza
50,000& =« 10A 500
O=2¢ctel OIME s &35d 2
5,000& = 1009 500
307 glz2+ol & 1,573,328 1,804,000 A 230,672
02 RIZFE MM E X 3,600 4,000 A 400
OXdE=g &= XA 3,600
05 BIZERI & 3 1,569,728 1,800,000 A 230,272
OMEBESHEZE QUAIAE = 1,569,728
401 Al HI & 28I 50,000 0 50,000
01 A& HI 50,000 0 50,000
ONMEESHEE HMelAE =& SA 50,000
-0l 240l =4 25,000,000& =« 14l 25,000
—HIEg S22AHI0/0f =&
25,000,000& * 14 25,000
=g X 399,600 415,567 A 15,967
= 8,000
< 96,200
Al 295,400
MEHIE ZeltHE S R0IAY 186,000 178,317 7,683
< 55,800
Al 130,200
101 @14 Hl 186,000 178,317 7,683
< 55,800
Al 130,200
04 JIZHHZ2XRHEE S 186,000 178,317 7,683
OME s Ho &AL el2AH] 184,558
-Jles 52,3203 = 169g = 149H 123,790
< 37,137
Al 86,653




SN BAFD
M ZRTA EH
el =2 A (22 &d)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
- =4l 5,0008 * 169¢ * 14Y 11,830
S 3,549
Al 8,281
-2252¢+9 52,3203 = 444 « 14 32,230
= 9,888
Al 22,342
- RssE 52,320% » 8¢ + 149 5,860
£ 1,758
Al 4,102
-z 122,080 = 20Al2t 2,442
S 732
Al 1,710
-28a 8,406
= 2,304
Al 6,102
OdgetZai&A 2AciHl S 1,442
-S22gHl 8,000& = 641 * 14& 672
= 201
Al 471
- I/ =Hl 55,000& * 14& 770
S 231
Al 539
M8 =Y ESAMY 42,000 42,250 A 250
S 12,600
Al 29,400
206 M =4l 42,000 42,250 A 250
S 12,600
Al 29,400
01 M= dl 42,000 42,250 A 250
onNgss =A% M 5,250 = 8,0007H 42,000
< 12,600
Al 29,400
SEHHY 2HEN2 112,000 130,000 18,000
2 8,000
T 8,000
Al 96,000
301 LEIE A= 112,000 130,000 18,000
= 8,000
= 8,000
Al 96,000
12J24= 112,000 130,000 218,000
OsSZHHE 1243 1403 = 800,000kg 112,000
= 8,000
S 8,000
Al 96,000
YSHIIZ 2HMel KA 50,000 50,000 0
S 15,000
Al 35,000




2N
X ZH -
L= B

el

3y ox
[ p-
Hr H 0%

o > 04
=
B

o 0x

il

CEB P (3H) - NRAY - B ofl &t o SSa HDE2

201 Bt A | 50,000 50,000
= 15,000
Al 35,000

01 At 22l bl 50,000 50,000
OY9=sHIIZE &HHel ANAY 50,000
& 15,000
Al 35,000

2838 =80 oM EH XA 9,600 9,600
& 4,800
Al 4,800

301 LEtE M= 9,600 9,600
& 4,800
Al 4,800

12 JIEtE2 &2 9,600 9,600

OMEEE =802 o™ EH XA

100,000& * 96Y 9,600
o= 4,800
Al 4,800

ZoHAl MESs HE=SHEH A ALY 1,983,000 1,983,000
o 1,183,000
Jl 400,000
& 100,000
Al 300,000

HELSHE A (22EAM2) 600,000 600,000
rag 600,000

401 Al HI L 2 0HHI 600,000 600,000
= 600,000

01 Al &HI 600,000 600,000
OHEE+EHEH 22 A2 Z2AH Y &EAHH| 600,000
= 600,000

=84y ZE(FHXNF=IE) 300,000 300,000
rag 300,000

401 AIEHIL 20| 300,000 300,000
Rag 300,000

01 A&t 300,000 300,000
Ods=stdH =AHA=XHE SAH L &AL 300,000
hag 300,000

2x5dE ZE(2UMSHE) 500,000 500,000
J| 400,000
= 100,000

401 IS H L 2T 500,000 500,000
J| 400,000
& 100,000

01 Al& H| 500,000 500,000
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